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Set theory

Example

1. If N=  then find the number of all possible proper subsets of N.

Watch Video Solution

{α, β, γ}

2. Given that {Whole number up to 36 },A={3,6,9…..36} and B={4,8,12,……

36} Find 

Watch Video Solution

μ =

n(A ∩ B)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_jvewN6aOYl2B
https://dl.doubtnut.com/l/_exyu0zADs6sy
https://dl.doubtnut.com/l/_Mt9TbrbD7xs4


3. If n(A)= 4 n(B)= 6,and  then find 

Watch Video Solution

n(A ∪ B) = 8 n(A ∪ B)

4. If  and the sets A and B are disjoint, then find 

.

Watch Video Solution

n(A) = 8, n(B) = 6

n(A ∪ B)

5. There are 40 presons in a group : four of them can speak neither Englis

nor Hindi .The sum of the number of persons who can speak English and

that of those who can speak Hindi is 44 Find the number of those who

can speak both English and Hindi.

Watch Video Solution

https://dl.doubtnut.com/l/_Mt9TbrbD7xs4
https://dl.doubtnut.com/l/_9EUe3oT2gJWn
https://dl.doubtnut.com/l/_hfC2SnDxvjFo


6. There are 100 children in a colony. Of them, 70 watch Disney channel, 50

watch both Cartoon network and Disney channels, and 20 watch none of

these. Find the number of children who watch only cartoon network.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

40

30

20

10

7. If

Watch Video Solution

n(μ) = 40, n(A' ∩ B' ) = 6, n(A ∩ B' ) = 10 and n(B ∩ A) = 16, then fi

https://dl.doubtnut.com/l/_7CVrrW9okIk0
https://dl.doubtnut.com/l/_NcKVMA9RlMbp


8. X and y are disjoint sets. If n(X) = 40 and n(Y)= 28, then find n(X-y)+n(Y-

X)

Watch Video Solution

9. If A =  , then find the number of all possible proper subsects of

A .

Watch Video Solution

{2, 3, 7}

10. Given that {Whole number up to 36 },A={3,6,9…..36} and B=

{4,8,12,……36} Find 

Watch Video Solution

μ =

n(A ∩ B)

11. If n (A) = 4 , n (B) = 6 , and n  , then find  .

Watch Video Solution

(A ∪ B) = 8 n(A ∩ B)

https://dl.doubtnut.com/l/_sZpa1qiC6W4i
https://dl.doubtnut.com/l/_3p3paY1YR3Kk
https://dl.doubtnut.com/l/_r0YLxxKnCHEx
https://dl.doubtnut.com/l/_JgqbbZtMCub4


12. If n (X) = 10 , n(Y) = 5 , and the sets X and Y are dijoint , then find

 .

Watch Video Solution

n(X ∪ Y )

13. There are 40 presons in a group : four of them can speak neither

Englis nor Hindi .The sum of the number of persons who can speak

English and that of those who can speak Hindi is 44 Find the number of

those who can speak both English and Hindi.

Watch Video Solution

14. There are 100 children in a colony. Of them, 70 watch Disney channel,

50 watch both Cartoon network and Disney channels, and 20 watch none

of these. Find the number of children who watch only cartoon network.

Watch Video Solution

https://dl.doubtnut.com/l/_JgqbbZtMCub4
https://dl.doubtnut.com/l/_s7pIw6wckKMZ
https://dl.doubtnut.com/l/_VbodEeftIxas
https://dl.doubtnut.com/l/_4YLSMDsb4X8t


Very Short Answer Type Question

15. If

Watch Video Solution

n(μ) = 40, n(A' ∩ B' ) = 6, n(A ∩ B' ) = 10 and n(B ∩ A) = 16, then fi

16. X and Y are disjoint sets , If n (X) = 40 and n(Y) = 28 , then find

.

Watch Video Solution

n(X − Y ) + n(Y − X)

1. If A={ 2,3,4} and B ={3,5} and , then  has only one element

Watch Video Solution

A ∩ B

2. If A = {1,2,3,4,5} then 2 ∈ A

https://dl.doubtnut.com/l/_7pgqda2khlrB
https://dl.doubtnut.com/l/_RrQvRWL969Ol
https://dl.doubtnut.com/l/_3DsEnYWrrhfc
https://dl.doubtnut.com/l/_Ys3FDlruQnVi


Watch Video Solution

3. If  and  then  has 5 elements

Watch Video Solution

A = {1, 2, 3, 4, 5} B = {3, 5} A ∪ B

4. If , then 

Watch Video Solution

A ⊂ B A ∩ B = ?

5. If A 

Watch Video Solution

⊆ B and B ⊆ AthenA = B

6. Two sets having no element in common are called  sets.

Watch Video Solution

_____

https://dl.doubtnut.com/l/_Ys3FDlruQnVi
https://dl.doubtnut.com/l/_KqFdzTN41AbU
https://dl.doubtnut.com/l/_ZP3aZCOlC3Q4
https://dl.doubtnut.com/l/_WDnwOXVrPRDS
https://dl.doubtnut.com/l/_aUli0DjXHRDH
https://dl.doubtnut.com/l/_UoqMqKOrApbt


7. The set of whole number is a/an set . ( finite / infinite)

Watch Video Solution

_____

8. If X={1,3,5,7,9,} then the cardinal number of X is .

Watch Video Solution

______

9. If Y={ 2,4,6,8 } then the number of non-empty subets of Z is .

Watch Video Solution

____

10. All rich people in your city,

Watch Video Solution

11. All intelligent students in your school .

https://dl.doubtnut.com/l/_UoqMqKOrApbt
https://dl.doubtnut.com/l/_X1SLW9rM3eU6
https://dl.doubtnut.com/l/_4WatjO1gBz2t
https://dl.doubtnut.com/l/_XT8RWU3mUWa2
https://dl.doubtnut.com/l/_rzAitB30T19X


Watch Video Solution

12. All fat boys in your colony.

Watch Video Solution

13. All the boys of your class whose heigh exceeds 150 cm

Watch Video Solution

14. P={xx is a multiple of  and Q =(xx is a multiple of 6,  }

Find n(P) +n(Q) ={xx is a multiople of } Find n(P) + n( Q). 


The following steps are involved in solving the above problem .Arrang

them is sequential order . 

(A ) P={ 4,8,12,16 } and Q={6,12 , 18 24} 

( B)  


( C) n(p)+n(Q)=4+4 =8

4, x < 20} x < 30

6, x < 30

⇒ n(P ) = 4 and n(Q) = 4

https://dl.doubtnut.com/l/_rzAitB30T19X
https://dl.doubtnut.com/l/_IzzmNQ8dgQFZ
https://dl.doubtnut.com/l/_JIeWYkC2AQdW
https://dl.doubtnut.com/l/_107teO8Uh3TP


A. CBA

B. ACB

C. BAC

D. ABC

Answer:

Watch Video Solution

15. If a set has 2 elements , then how many proper subsets are there for

the given set?

A. 4

B. 3

C. 2

D. 1

Answer: B

https://dl.doubtnut.com/l/_107teO8Uh3TP
https://dl.doubtnut.com/l/_mErBmhlJ8Elq


Watch Video Solution

16. Which of the following is a null set ?

A. {1}

B. 

C. { x/x is a composite number less than 5 }

D. {x/x is an even prime number more than 2,}

Answer: D

Watch Video Solution

{ϕ}

17. If A={a,e,I,o,u,a,e,i} then n (A) ______

A. 4

B. 8

C. 16

https://dl.doubtnut.com/l/_mErBmhlJ8Elq
https://dl.doubtnut.com/l/_kKgCRIphxRMm
https://dl.doubtnut.com/l/_peIrmzmjUFQr


D. 5

Answer: D

Watch Video Solution

18. If A={x/x +10 = 10 } then n(A)=_____.

A. 0

B. 1

C. 4

D. 2

Answer: B

Watch Video Solution

19. If A= { a,b,c} and X= {x,Y,Z} then =_____.A ∩ X

https://dl.doubtnut.com/l/_peIrmzmjUFQr
https://dl.doubtnut.com/l/_2cM7RO7aFuYO
https://dl.doubtnut.com/l/_5lLG1QfQ8Psm


A. A

B. X

C. 

D. 

Answer: C

Watch Video Solution

ϕ

μ

20. If X={a,e,I,o,u} then which of the following is a correct statement

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

e ∈ X

e ⊂ x

e ∈ X

e ⊂ X

https://dl.doubtnut.com/l/_5lLG1QfQ8Psm
https://dl.doubtnut.com/l/_FwOCIXemBg3W


21. If Y={{ a,e},{I,o},u} then which of the following is a corrcet statements ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

{a, e} ⊂ y

{a, e} ≠ Y

{{a, e}} ≠ Y

{a, e} ≠ Y

22. If E=( x/x is a factor of 8 },F={x/x is a factor of ff16 },and G ={x/x is a

factor of 13 }, then which of the following statements is true ?

A. 

B. 

C. 

E ⊂ G

G ⊂ E

E ⊂ F

https://dl.doubtnut.com/l/_FwOCIXemBg3W
https://dl.doubtnut.com/l/_5OInKhqxaVy1
https://dl.doubtnut.com/l/_vum37cBQwveS


D. 

Answer: C

Watch Video Solution

F ⊂ E

23. Write the difference of the sets containing the letters of the words

MATHEMATICS and SOCIALAMAN

A. {M,A,T}

B. {L,M,N}

C. {T,H,E}

D. {I,C,S}

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vum37cBQwveS
https://dl.doubtnut.com/l/_0y2JX76vlkjo


24. If n(A) = 20 , n(B) = 30 and  then find 

A. 5

B. 10

C. 15

D. 20

Answer: A

Watch Video Solution

n(A ∪ B) = 45 n(A ∩ B)

25. If A={a,e,I,o,u} and B={a,I,e,c,d } then  is ______.

A. 0

B. 1

C. 2

D. 3

n(A − B)

https://dl.doubtnut.com/l/_15O0qesnYaoP
https://dl.doubtnut.com/l/_rIpu44HKBw0d


Answer: C

Watch Video Solution

26. If A={1,2,3} then the number of elements in P(A) is

A. 3

B. 8

C. 4

D. 6

Answer: B

Watch Video Solution

27. The cardinal number of the set containing letters of the word

MOONROCK

https://dl.doubtnut.com/l/_rIpu44HKBw0d
https://dl.doubtnut.com/l/_NhoyUwJdqSxK
https://dl.doubtnut.com/l/_CZa3npn3bzjr


A. 8

B. 6

C. 4

D. 2

Answer: B

Watch Video Solution

28. If A and B are disjoint sets, then 

A. 4

B. 2

C. 1

D. 0

Answer: D

Watch Video Solution

n(A ∩ B) = ?

https://dl.doubtnut.com/l/_CZa3npn3bzjr
https://dl.doubtnut.com/l/_bSxhFaLibqBE


Short Answer Type Question

1. Find the cardinal number of a set containg woman prime ministers of

India.

Watch Video Solution

2. Write the set builder from for the given set in the above question .

Watch Video Solution

3. Write the cardinal nmnber of the set containing the letters of the word

'MATHEM.ATICS'.

Watch Video Solution

https://dl.doubtnut.com/l/_bSxhFaLibqBE
https://dl.doubtnut.com/l/_oGKTm04c6Fxt
https://dl.doubtnut.com/l/_Xe5t4sIOgFIz
https://dl.doubtnut.com/l/_bjafPQc5dA41


4. If Write the difference of the set containing the lettre of the words

ARITHMETIC `

Watch Video Solution

STATISTICS' and

5. If  then name what type of sets are A and B, and also give

example.

Watch Video Solution

A ∩ B = ϕ

6. Suggest a universal set for the set given below. 

A = {Even numbers less than 100} 

B={Odd natural numbers less than 100 in natural numbers }

Watch Video Solution

7. Write  in the set builder form for the above questionA ∪ B

https://dl.doubtnut.com/l/_jq2VwYtwuZ6K
https://dl.doubtnut.com/l/_jBsWqd52K3w9
https://dl.doubtnut.com/l/_SyP7eewOWbrj
https://dl.doubtnut.com/l/_M5fWkDisR4b0


Watch Video Solution

8. Let the set of all natural numbers N be the uni- versal set and K = { x :x

is an even prime number} . I Find K

Watch Video Solution

9. Write dovvn all the possible subsets of {x, y, z}

Watch Video Solution

10. Write do,vn all the possible subsets of {p, q}

Watch Video Solution

11. Write all the possible proper subsets of {0,-1,1}

Watch Video Solution

https://dl.doubtnut.com/l/_M5fWkDisR4b0
https://dl.doubtnut.com/l/_u0g8u9EhAtgv
https://dl.doubtnut.com/l/_ioNf9SegCJxh
https://dl.doubtnut.com/l/_lsIhdOQWehwf
https://dl.doubtnut.com/l/_OBqM0ynX2gkK


12. Write all the possible proper subets of 

Watch Video Solution

{ − , }
1

2

1

2

13. A={xx is a multiple of 3, } and B ={xx is multiple of 5,  }

Find n(A) n-(B)

Watch Video Solution

x < 10 x < 15

14. If  = 200 and n(  = 120, then find 

Watch Video Solution

n(μ) A' ∩ B) n(A ∪ B)

15. Write the roster form of

Watch Video Solution

X = {x : x = n2 + 2n + 1, n ∈ N and n < 10}

https://dl.doubtnut.com/l/_OBqM0ynX2gkK
https://dl.doubtnut.com/l/_7AiL8YbdUxSv
https://dl.doubtnut.com/l/_bmVlw5gkzLVZ
https://dl.doubtnut.com/l/_KcyzRBiK6wBZ
https://dl.doubtnut.com/l/_UDoxfXt9qEB3


16. A set X has 255 proper subests .Find its cardinal number .

Watch Video Solution

17. A=  and B={0,1,4,9,16,25} Find 

Watch Video Solution

{0, 12, 22, 32, 42, 52} A ∩ B

18. Find  in the above question

Watch Video Solution

A ∪ B

19. If A={2,3,5,7,11} and B={1,3,5,7,9} then find A-B and B-A

Watch Video Solution

https://dl.doubtnut.com/l/_aER8F4QZ42Jp
https://dl.doubtnut.com/l/_3RSO1SRAm5p9
https://dl.doubtnut.com/l/_idXzEwm6xkLc
https://dl.doubtnut.com/l/_6J8QA7TTgE3k


20. If U={4,5,6,7,8,9,10,11,12} and C={4,6,8,10,12 } then find U-C .

Watch Video Solution

21. If O= {1} , then find the number of all possible proper subsets of O.

Watch Video Solution

22. If N={a,b,c,..z} then find the number of all possible subsets of N.

Watch Video Solution

23. If n(A )= 20  = 10,and then find n(B).

Watch Video Solution

n(A ∩ B) n(A ∪ B) = 70

24. If x={0,1,2,3,4,5,6,7,8,9,10} and Y={ 2,4,6,8,10} then find X-Y.

https://dl.doubtnut.com/l/_E1qpXG3cpR3b
https://dl.doubtnut.com/l/_h5qF0ZrINeWI
https://dl.doubtnut.com/l/_qMME1nePPyS0
https://dl.doubtnut.com/l/_al2jcTKIJDdN
https://dl.doubtnut.com/l/_a1RbRXrG8YWk


Essay Type Question

Watch Video Solution

1. From the given Venn diagram find (a)  and 

Watch Video Solution

P ∪ Q (b)P ∩ Q

(c)UniversalSet

2. From the givenVenn diagram find (a)

 
A' ∪ B(b)B' ∩ C' and (c)C − A

https://dl.doubtnut.com/l/_a1RbRXrG8YWk
https://dl.doubtnut.com/l/_Hua9qFh23vY7
https://dl.doubtnut.com/l/_4f3Jauqwjnp8


Watch Video Solution

3. In a group of 36 students, 18 like volleyball, 12 like hockey, and 14 like

neither of the games. How many like both games?

Watch Video Solution

https://dl.doubtnut.com/l/_4f3Jauqwjnp8
https://dl.doubtnut.com/l/_2kYwES720OCT


4. In the question above, how many do not like volley ball and how many

do not like hockey?

Watch Video Solution

5. Out of 100 persons, 45 drink tea and 35 drink coffee, if 10 persons drink

both, how many drink neither tea nor coffee?

Watch Video Solution

6. In a class of 60 students, 30 passed in Physics ,24 passed in Biology and

24 passed in both. Find the number of students who could have failed in

both the subjects

Watch Video Solution

https://dl.doubtnut.com/l/_SdzqYnWKQWZh
https://dl.doubtnut.com/l/_mrGdLPhcGBWQ
https://dl.doubtnut.com/l/_XtKfm1vzLy1I


7. 


From above Venn diagram find 

Watch Video Solution

n(P − Q) + n(Q − P )

8. In a class of 70 students, each student passed Hindi or English. Of

them, 15 students passed both Hindi and English, and 40 students passed

Hindi. Find the number of students who passed English.

Watch Video Solution

9. In a school, there are 150 students. If 90 of them play chess, 70 of them

play both chess and carrom and 40 play none of these games, then find

the number of children who play only carrom.

Watch Video Solution

https://dl.doubtnut.com/l/_W2USi302a3VW
https://dl.doubtnut.com/l/_O1LBGVW14Uff
https://dl.doubtnut.com/l/_HloAhHen2xjS


Concept Application Level 1

1. If  ={1,2,3,4,5,6,7,8) and A={2,5,8} then find n(A)

A. 3

B. 5

C. 4

D. 6

Answer: B

Watch Video Solution

μ

2. If x ={Non-prime numbers } and Y= {Non composite numbers },then

_______.

A. 0

n(x ∩ Y )

https://dl.doubtnut.com/l/_HloAhHen2xjS
https://dl.doubtnut.com/l/_dmqhUdeklNuj
https://dl.doubtnut.com/l/_8Kv5G32NJhnj


B. 2

C. 1

D. 3

Answer: C

Watch Video Solution

3. If p= {Factors of 6 } and Q={Factors of 12 } then, _____.

A. 4

B. 8

C. 10

D. 6

Answer: D

Watch Video Solution

n(P ∪ Q)

https://dl.doubtnut.com/l/_8Kv5G32NJhnj
https://dl.doubtnut.com/l/_0DqEZfs6mBPm
https://dl.doubtnut.com/l/_lL7aV5jNn1Qc


4. Which of the following is /are true ?

A. If M=N , then M'=N'

B. If M = N' then M=N

C. Both ( a) and ( b)

D. Neither ( a) nor ( b)

Answer: C

Watch Video Solution

5. If n(A)=10 n(B)=20 and =___.

A. 4

B. 2

C. 6

D. 8

n(A ∪ B) = 26then n(A ∪ B)

https://dl.doubtnut.com/l/_lL7aV5jNn1Qc
https://dl.doubtnut.com/l/_iWNqPUaVruuq


Answer: A

Watch Video Solution

6. A={1,2,3,4,5,6,7,8,9 B={ 2,4,6,8 } C={1,3,5 7,9} =_____.

A. A

B. B

C. 

D. 

Answer: D

Watch Video Solution

(A ∪ (B ∪ C))

B ∩ C

A ∩ C

7. =_____.

A. B

A ∪ B

https://dl.doubtnut.com/l/_iWNqPUaVruuq
https://dl.doubtnut.com/l/_HMdfsGKc8pVd
https://dl.doubtnut.com/l/_Gi81sI9AEYNt


B. C

C. 

D. 

Answer: A

Watch Video Solution

B ∩ C

A ∩ B

8. =______.

A. B

B. C

C. 

D. 

Answer: B

Watch Video Solution

A ∩ C

B ∩ C

A ∩ B

https://dl.doubtnut.com/l/_Gi81sI9AEYNt
https://dl.doubtnut.com/l/_pY9UOsV6gHDX
https://dl.doubtnut.com/l/_CjzamWVlDZKy


9. =__________`

A. A

B. 

C. 

D. All of these

Answer: D

Watch Video Solution

(A ∩ B) ∪ (A ∩ C)

A ∪ B

A ∪ C

10. Which of the following is a singleton set ?

A. {0}

B. 

C. { xx is an even prime number }

D. All of these

{ϕ}

https://dl.doubtnut.com/l/_CjzamWVlDZKy
https://dl.doubtnut.com/l/_thWOTGtjMYaQ


Answer: D

Watch Video Solution

11. If A= {1,3,5,2,4,1,3,5,7,8,9,6,10}, then n(A) =________.

A. 13

B. 8

C. 10

D. 9

Answer: C

Watch Video Solution

12. If A={ x:x +5=5}, then n(A) =______.

A. 0

https://dl.doubtnut.com/l/_thWOTGtjMYaQ
https://dl.doubtnut.com/l/_eM9q1XfhwHXt
https://dl.doubtnut.com/l/_NB83dUbCBE7c


B. 1

C. 5

D. 2

Answer: B

Watch Video Solution

13. If X={1,2,3,4} then which of the following is a correct statement ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4 ∈ X

2 ⊂ X

4 ∉ X

4 ⊂ X

https://dl.doubtnut.com/l/_NB83dUbCBE7c
https://dl.doubtnut.com/l/_tsm2KjaB8JPj
https://dl.doubtnut.com/l/_ryZ1c7ebWCqJ


14. P={x:x is a multiple of  } and Q= {xx is a multiple of 

Find n(P) +n(Q). 

The following steps are involved in solving the above problem .Arrange

them in sequential order .(A) P= {4,8,12,16} and Q={6,12 , 18,24} 

(B) n(P) =4 and n(Q)=4 


(C ) n(P) = 4 and n (Q) =8 

A. CBA

B. ACB

C. BAC

D. ABC

Answer: D

Watch Video Solution

4, x < 20 6, x < 30}

⇒

15. In a group of 50 students ,30 like Basketball ,20 like football and 10 like

neither of the games .How many like both the game ? 

https://dl.doubtnut.com/l/_ryZ1c7ebWCqJ
https://dl.doubtnut.com/l/_cMAB090fgl3R


The following steps are involved in solving the above problem .Arrange

them in sequential order. 

(A)  


 


( C ) Let n(B) = 30 ,n(F)=20 and  


We know that 

A. CDBA

B. CBDA

C. ADBC

D. BCDA

Answer: A

Watch Video Solution

n(B ∩ F ) = 50 − 40 = 10

⇒ 40 = 50 − n(B ∩ F )

n(B ∪ F ) = 50 − 10 = 40

n(B ∪ F ) = n(B) + n(F ) − n(B ∩ F )

16. Find the length of the wire (in m) required to fence a square field 6

times having its area 5.76 hectares.

Watch Video Solution

https://dl.doubtnut.com/l/_cMAB090fgl3R
https://dl.doubtnut.com/l/_QGdQrbDKE5ub


17. If A ={ T,I,G,E,R} and B={G,I,N,T,E,R} then  has 6 elements .

Watch Video Solution

A ∪ B

18. The cardinal number of the set containing letters of the word

'GINGERCOOK ' is 8.

Watch Video Solution

19. If , then 

Watch Video Solution

A ⊂ B A ∪ B = ?

20. If X={1,2,3,{4,5},6,{7,8,9,10} then 

A. 6

{4, 5} ⊂ X

https://dl.doubtnut.com/l/_QGdQrbDKE5ub
https://dl.doubtnut.com/l/_dFp1FgKp7FLS
https://dl.doubtnut.com/l/_5DdxW4aTS7QN
https://dl.doubtnut.com/l/_LWl4u3qOmsA4
https://dl.doubtnut.com/l/_hcViKn0g0L7h


Concept Application Level 2

B. 5

C. 7

D. 8

Answer:

Watch Video Solution

1. If A={Positve perfect squares less than 100} and B={Positve perfect cuber

less than 100} , then find 

A. 1

B. 2

C. 3

D. 4

n(A ∩ B)

https://dl.doubtnut.com/l/_hcViKn0g0L7h
https://dl.doubtnut.com/l/_9GpZCWVT9MgN


Answer: B

Watch Video Solution

2. If , All prime number } and O={all odd prime number },find n(O).

A. 1

B. 2

C. 3

D. more than 3

Answer: A

Watch Video Solution

μ = {

3. ={Two digit perfect squases for which sum of digits is a perfect square

} 

μ

https://dl.doubtnut.com/l/_9GpZCWVT9MgN
https://dl.doubtnut.com/l/_mSLqvoRajCbh
https://dl.doubtnut.com/l/_g36lMNqeUk26


Y={Two digit perfect squases for which sum of digits is a perfect square }

Find 

A. {49}

B. {35}

C. {36}

D. {64}

Answer: D

Watch Video Solution

(X ∪ Y )

4. If ={0,1,2,3,4,,5,6,7,8,9} X{2,3,5,7} and y={2,5,8} Find 

A. 8

B. 7

C. 6

D. 9

μ n(X' ∪ Y ' )

https://dl.doubtnut.com/l/_g36lMNqeUk26
https://dl.doubtnut.com/l/_VHx5z2Ori0MD


Answer: A

Watch Video Solution

5. A={1,2,3,4,5,6,7,8,9}, 

B={2,4,6,8} 

C={1,3,5,7,8} 

If P={Factor of 36} and Q={Factors of AB} then find 

A. 6

B. 5

C. 7

D. 8

Answer: A

Watch Video Solution

n(P ∩ Q)

https://dl.doubtnut.com/l/_VHx5z2Ori0MD
https://dl.doubtnut.com/l/_CPxha2yyTxkg


6. S=abcdef….z,  = {Vowels in S} and B={ Vowels in even positions of S}

.Find n(B')

A. 4

B. 5

C. 3

D. 2

Answer: B

Watch Video Solution

μ

7. If N is natural number A= Factors of N} and B{Multiples of N} , then `n(A

cap B)=_____.

A. 2

B. 3

C. 4

https://dl.doubtnut.com/l/_1Dvo9o08Kvn4
https://dl.doubtnut.com/l/_KiqEBCJP4pAS


D. 1

Answer: D

Watch Video Solution

8. If  {Natural number up to 32 } ,C={2,5,8,11,…..32} and D={ 2,4,6,8,…..32}

then find 

A. 3

B. 4

C. 6

D. 5

Answer: D

Watch Video Solution

μ

n(C ∩ D)

https://dl.doubtnut.com/l/_KiqEBCJP4pAS
https://dl.doubtnut.com/l/_zMKCY5d6Il1f


9. E= { Natural numbers up to 30 } 

 

Find 

A. 2

B. 5

C. 7

D. 9

Answer: C

Watch Video Solution

X = { = 4y + 2, y ∈ E}
x

x

n(X ∩ Y )

10. X= { The units digit of the sum of 10 consective natural numbers } Find

X.

A. {5}

B. {2}

https://dl.doubtnut.com/l/_4znsF1bZLEPT
https://dl.doubtnut.com/l/_xmMe2hj3Yq5Y


C. {3}

D. {0}

Answer: A

Watch Video Solution

11. If A=(1,2,3,4,8}, then which of the following can be concluded ?

A. 

B. 

C. 

D. all of these

Answer: D

Watch Video Solution

8 ∈ A

9 ∉ A

{2, 3} ⊂ A

https://dl.doubtnut.com/l/_xmMe2hj3Yq5Y
https://dl.doubtnut.com/l/_sp5fsadR1tpI


12. If A and B are two disjoint sets  then find 

A. 16

B. 18

C. 24

D. Cannot say

Answer: C

Watch Video Solution

n(A) + n(B) = 24

n(A ∪ B)

13. If A= {1,2,3,4} and B={2,4,8,9} then =_____.

A. {1,3,8,9}

B. {2,4}

C. A

D. 

(A − B) ∪ (B − A)

ϕ

https://dl.doubtnut.com/l/_3kro8bz1h3ET
https://dl.doubtnut.com/l/_xFcA1uVJ05Sa


Answer: A

Watch Video Solution

14. In the question above ,find 

A. {2,4}

B. A

C. B

D. 

Answer: D

Watch Video Solution

(A − B) ∩ ((B − A)

ϕ

15. Which of the following is a/are false ?

A. A − A = ϕ

https://dl.doubtnut.com/l/_xFcA1uVJ05Sa
https://dl.doubtnut.com/l/_IlbWxS8a3rwY
https://dl.doubtnut.com/l/_otR4Wf3wyDC6


B. 

C. Both (a ) and ( b)

D. None of these

Answer: D

Watch Video Solution

A ∪ A' = μ

16. Which of the following is /are true ?

A. 

B. 

C. Both (a ) and ( b)

D. None of these

Answer: C

Watch Video Solution

P ∪ P ' = μ

P ∩ P ' = ϕ

https://dl.doubtnut.com/l/_otR4Wf3wyDC6
https://dl.doubtnut.com/l/_AH49GwVoCZTS
https://dl.doubtnut.com/l/_Jg3UDsRuSeeq


17. If two sets are disjoint , then _______.

A. they have one element in common

B. they have 0 as one element in common

C. they have no element in common

D. they have two element in common

Answer: C

Watch Video Solution

18. If Y={a,e,{I,o} u} then which of the following is a correct statement ?

A. 

B. 

C. 

D. 

{I, o} ⊂ Y

{I, 0} ∈ Y

{i. o} ∈ Y

{{I, o}} ∈ Y

https://dl.doubtnut.com/l/_Jg3UDsRuSeeq
https://dl.doubtnut.com/l/_s80FpukUJQEE


Answer: B

Watch Video Solution

19. If `U={ x:x is an alphabet } and C={x:x is a consonant } then C=____.

A. {a,e,i.o}

B. {a,e,i}

C. {I,o,u}

D. {a,e,I,ou}

Answer: D

Watch Video Solution

20. If =O={0} then the number of all possible subsets of O is __.

A. 2

https://dl.doubtnut.com/l/_s80FpukUJQEE
https://dl.doubtnut.com/l/_UMg2DyK1yC3r
https://dl.doubtnut.com/l/_SQR3JrG05s0g


B. 3

C. 1

D. 4

Answer: A

Watch Video Solution

21. If =35 then n(B) =____.

A. 30

B. 10

C. 40

D. None of these

Answer: A

Watch Video Solution

n(A) = 10, n(A ∩ B) = 5 and n(A ∪ B)

https://dl.doubtnut.com/l/_SQR3JrG05s0g
https://dl.doubtnut.com/l/_f7V7wZKiTzRX
https://dl.doubtnut.com/l/_P7unX75Bxdyt


22. If x={0,1,2,3,4,5,6,7,8,9,10} and Y={ 1,3,5,7,9} then X-Y=___.

A. {1,2,3,4,5}

B. {1,3,5,7,9 }

C. {0,2,4,6,8,10}

D. {2,4,6,8,10}

Answer: C

Watch Video Solution

23. Given that A= {Perfect cubes between 10 and 100} B={Perfect squares

between 10 and 100} and B={Perfect squares between 10 and 100}.Find

A. 2

B. 1

C. 5

n(A ∩ B)

https://dl.doubtnut.com/l/_P7unX75Bxdyt
https://dl.doubtnut.com/l/_7BOu1Ip8GlgB


Concept Application Level 3

D. 3

Answer: B

Watch Video Solution

1. If ={Natural number up to 30 },Q ={Multiples of 4 less than 30 } then

find 

A. 27

B. 26

C. 29

D. 28

Answer: D

Watch Video Solution

μ

n[(Q ∩ R)]

https://dl.doubtnut.com/l/_7BOu1Ip8GlgB
https://dl.doubtnut.com/l/_zXLncEWTQLGI


2. A ={ Natural number less than 200 divisible by 9} 

B={Natural numbers less than 200 divisible by 12 } 

C= {Natural numbers less than 200 divisible by 15} .Then

A. {180}

B. {120}

C. { 105,150}

D. {120,180}

Answer: A

Watch Video Solution

(A ∩ B ∩ C) =_ __ _ .

3. In the pervious question find(

A. {60,120,180,}

B. {45,90,135,180}

(A ∩ B)

https://dl.doubtnut.com/l/_XtcFq5l1bAUa
https://dl.doubtnut.com/l/_aFLWIAiXXaz7


C. {36,72,108,144,180}

D. {36,60,84}

Answer: C

Watch Video Solution

4. If P={Factors of 48 } and Q={Factiors of 60 } then find

A. 5

B. 7

C. 8

D. 10

Answer: D

Watch Video Solution

n[(P − Q)μ(Q − P )]

https://dl.doubtnut.com/l/_aFLWIAiXXaz7
https://dl.doubtnut.com/l/_LMR1hBYsHlGO
https://dl.doubtnut.com/l/_JmcgaJgBYMoT


5. Given that E= { Natural number up to 30 }

 Find 

A. 0

B. 2

C. 1

D. 3

Answer: B

Watch Video Solution

P = { = 4y + 1, x ∈ E} and Q = { = 6y + x ∈ E}
x

x

x

x

n(P ∩ Q)

6. A class has 50 student ,each student likes either cricket or football or

both .Sixteen students like both the games .Find the number of students

who like exactly one game .

A. 34

https://dl.doubtnut.com/l/_JmcgaJgBYMoT
https://dl.doubtnut.com/l/_3FoBE1v3TSoR


B. 32

C. 38

D. 36

Answer: A

Watch Video Solution

7. In a group of 36 persons ,20 take coffee but not tea. 16 take tea coffee

.Find the number of persons who take niether tea nor coffee.

A. 2

B. 1

C. 0

D. 3

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3FoBE1v3TSoR
https://dl.doubtnut.com/l/_TK73RDxEmm7R


8. In a locality there are 100 residents sixtty of them read The Times of

India .The number of residents who read both newspapers must be

________.

A. more than number of those who red

B. less than the number of those who read neither newspaper

C. equal to the number of those who read niether newspaper

D. Cannot say

Answer: C

Watch Video Solution

9. In a class ,there are 80 students ,The ratio of the number of those who

like only chocolates only ice creams ,both of these ,and neither of these is

4:3:2:1.How many like utmost one of the chocolates and ice creams ?

https://dl.doubtnut.com/l/_TK73RDxEmm7R
https://dl.doubtnut.com/l/_H1lvz4sYqqDs
https://dl.doubtnut.com/l/_3qh9c1PBeLeg


A. 72

B. 56

C. 64

D. 60

Answer: C

Watch Video Solution

10. In the question above how many do not like ice creams ?

A. 40

B. 44

C. 148

D. 36

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_3qh9c1PBeLeg
https://dl.doubtnut.com/l/_l0al4jmPxc0m


11. In a class each students plays chess or carom or both .The number of

students who play chess carom ,and both are 11,12 and 3 respectively Find

the percentage of those who play only chess.

A. 0.36

B. 0.4

C. 0.44

D. 0.48

Answer: B

Watch Video Solution

12. In the question above ,find the percentage of those who play only

caroms

A. 0.45

https://dl.doubtnut.com/l/_l0al4jmPxc0m
https://dl.doubtnut.com/l/_of4CA5aTUltb
https://dl.doubtnut.com/l/_VHKygfGIg782


B. 0.4

C. 0.5

D. 0.55

Answer: A

Watch Video Solution

13.  


From the above Venn diagram ,find n(P-Q)+n(Q-p)=_____.

https://dl.doubtnut.com/l/_VHKygfGIg782
https://dl.doubtnut.com/l/_YHnCw6cVtooi


A. 10

B. 4

C. 6

D. 8

Answer: D

Watch Video Solution

14. In a class of 50 students ,each student passed Maths of English ,If 10

students passed Maths ,then find the number of students who passed

English

A. 30

B. 20

C. 10

D. 40

https://dl.doubtnut.com/l/_YHnCw6cVtooi
https://dl.doubtnut.com/l/_2Ak60Yxn5AxB


Answer: A

Watch Video Solution

15. If A={x/x is a factor fof 4} B={x/x is a factor of 8} and C={x./x is a factor of

10 } then which of the following statements who passed English.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A ⊂

C ⊂ A

A ⊂ B

B ⊂ A

16. Given that X= { Natural number less than 100 divisible by 6} ,Y =

{Natural number less than 100 divisible by 8} and Z= {Natural number less

https://dl.doubtnut.com/l/_2Ak60Yxn5AxB
https://dl.doubtnut.com/l/_jhjJxnMlmMmc
https://dl.doubtnut.com/l/_wmqgTvOrcVyA


than 100 divisibe by 18} 

Find 

A. 4

B. 1

C. 3

D. 2

Answer: B

Watch Video Solution

n(X ∩ Y ∩ Z)

17. The strenght of a class is 96 .In it 56 students like cricket and 40

students like football .Which of the following can ve concluded ?

A. No student likes either crinket or football

B. Each stuedents likes either cricket or football

C. Netiher (a ) or (b)

https://dl.doubtnut.com/l/_wmqgTvOrcVyA
https://dl.doubtnut.com/l/_DmMPGn2ITo3S


D. Both (a) and ( b)

Answer: C

Watch Video Solution

18. In a office ,the ratio of the percentages of employees who like only tea,

percentage of employees who like only coffee ,perscentage of employees

who like neither of the drinks is 8 : 7: 6: 4 Find the percentage of

employees who like neither of the deinks.

A. 0.12

B. 0.08

C. 0.2

D. 0.16

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_DmMPGn2ITo3S
https://dl.doubtnut.com/l/_mLwU962qYcPC


Assessment Test Test 1

19. In the pervious question ,If the number of employees in the office is

150 ,the find the number of employees who like only tea.

A. 48

B. 54

C. 120

D. 66

Answer: A

Watch Video Solution

1. The mean of 36 observations is 22.If one observation 22 is deleted ,then

find the new mean 

The following steps are involved in solving the above problem .Arrange

then in sequential order . 

https://dl.doubtnut.com/l/_lRvtnBB3WBeY
https://dl.doubtnut.com/l/_0Rfdecc7D1eK


New arithmetic mean  


( B) Arithemetic mean 

 


 

( C) The sum of the observations 22 is deleted , the new sum = 792 -22 =

770 and the number of observations is 36 -1 ,i.e 35,.

A. BDCA

B. BCDA

C. DBAC

D. CBDA

Answer: B

Watch Video Solution

∴ = = 22
770

35

=
The sum of the observations 

Total number of the observations

⇒ 22 =
The sum of the observations 

36

2. 

The following steps are involved in solving the above problem.Arrange

If = {x : x ∈ W , x ≤ 10} and B = {x : x ∈ Nx ≤ 10}  then  find n(A ∪

https://dl.doubtnut.com/l/_0Rfdecc7D1eK
https://dl.doubtnut.com/l/_GUDmiX6vX9Nv


them in sequential order 

(A)  


( B) {0,1,2,3,4,5,6,7,8,9, 10 } cup {1,2,3,4,5,6,7,8,9,10} 


Form the given data A={1,2,34,5,6,7,8,9,10} and B={1,2,3,4,5,6,7,8,9,10} 

A. CABD

B. CBDA

C. CBDA

D. DCBA

Answer: B

Watch Video Solution

⇒ n(A ∪ B) = 11

A ∪ B =

∴ A ∪ B = {0, 1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

3. If the mean of 4, x and y is 6 , then the mean of x, y and 10 is ______.

A. 8

B. 9

https://dl.doubtnut.com/l/_GUDmiX6vX9Nv
https://dl.doubtnut.com/l/_v44CblGXZbvm


C. 12

D. 10

Answer: A

Watch Video Solution

4. A bar graph is drawn to the scale 1 cm = 4x units .The length of the bar

represeting a quantity 1000 units is 1.25 cm . Find x

A. 200

B. 175

C. 250

D. 275

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_v44CblGXZbvm
https://dl.doubtnut.com/l/_9P9UzQcm8vEL
https://dl.doubtnut.com/l/_mYcd1HfUvLIZ


5. In a pie grap h , a component is represnted as a sector with sector

angle .Find the percetage of the component value in total .

A. 0.28

B. 0.5

C. 0.32

D. 0.35

Answer: B

Watch Video Solution

180∘

6. Find the mode of the data 2, 4, 6, 4, 6, 7, 6, 7, aud 8

A. 4

B. 6

C. 7

D. 8

https://dl.doubtnut.com/l/_mYcd1HfUvLIZ
https://dl.doubtnut.com/l/_6FuX6rpDTGnF


Answer: B

Watch Video Solution

7. The mean height of a group of 30 students is 150 cm. If a 150 cm tall

student is included in the group , then the mean height of the new group

is ___.

A. 151 cm

B. 149 cm

C. 150 cm

D. 152 cm

Answer: C

Watch Video Solution

8. If the mean of 2,3, x ,7 ,8 is x, then find the value of x .

https://dl.doubtnut.com/l/_6FuX6rpDTGnF
https://dl.doubtnut.com/l/_aUOxT5NKJiDx
https://dl.doubtnut.com/l/_fUDEmA55Iswv


A. 3

B. 5

C. 4

D. 6

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_fUDEmA55Iswv


9.  


From the above Venn diagram ,find =__________.

A. 10

B. 4

C. 6

D. 8

Answer: D

Watch Video Solution

n(P − Q) + n(Q − P )

https://dl.doubtnut.com/l/_wssHVkpI3QeM


10. In a class of 50 students, each student passed Maths or English. If 10

students passed both Maths and English, and 30 students passed Maths,

the find the number of students who passed English.

A. 30

B. 20

C. 10

D. 40

Answer: A

Watch Video Solution

11. There are 100 children in a colony. Of them, 70 watch Disney channel,

50 watch both Cartoon network and Disney channels, and 20 watch none

of these. Find the number of children who watch only cartoon network.

A. 40

https://dl.doubtnut.com/l/_wssHVkpI3QeM
https://dl.doubtnut.com/l/_HROhYPdiTZAz
https://dl.doubtnut.com/l/_8O24Mb3i3db9


B. 30

C. 20

D. 10

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_8O24Mb3i3db9


Assessment Test Test 2

12. Match the following Column I to Column II

View Text Solution

https://dl.doubtnut.com/l/_7JAs83G7h1DD


1. The mean of 2, 12, x, 15, 20, and 17 is 16, then find the value of x . 

The following steps are involved in solving the above problem. Arrange

them in sequential order. 

 


(B ) 96=66+x 

( c)  


(D) We have,arithmetic mean 

A. ADBC

B. DABC

C. CABD

D. DBAC

Answer: B

Watch Video Solution

(A)16 = 2 + 12 + x + 15, 20 +
17

6

⇒ x = 96 − 66 = 30

=
The sum of observations 

Total number of observatons 

https://dl.doubtnut.com/l/_2f0Z9zD6t8Eb


2. In a class, there are 100 students. Of them, 60 students attend music

classes, 40 students attend dance classes, and 20 students attend both

the classes. Find the number of students who attend neither of the

classes. 

The following steps are involved in solving the above problem. Arrange

them in sequential order 

(A) 

( B) Number of students who attend neither of the classes = 100 - 80 =

20 

( C)  


(D) Let n(M) be the number of students who attend music classes and

n(D) be the number of students who attend dance classes.

A. DACB

B. DCBA

C. ACDB

D. DCAB

n(M ∪ D) = n(M) + n(D) − n(M ∪ D) → n(M ∩ D) → n(M ∪ D) = 6

∴

n(M) = 60, n(D) = 40 and n(M ∩ D) = 20(given)

https://dl.doubtnut.com/l/_3SwFJz9OvdED


Answer: D

Watch Video Solution

3. The mean of p, q, and r is same as the mean of q, 2r, and s. then which

of the following is correct ?

A. p = q = r

B. q = r = s

C. q = r

D. p = r + s

Answer: D

Watch Video Solution

4. A bar graph is drawn to the scale of 1 cm = 2 m units. The length of the

bar representing a quanti ty of 875 units is 1.75 cm. Find m .

https://dl.doubtnut.com/l/_3SwFJz9OvdED
https://dl.doubtnut.com/l/_ydiJR1rF3HRV
https://dl.doubtnut.com/l/_HLNyiOQeYOPn


A. 125

B. 225

C. 250

D. 375

Answer: C

Watch Video Solution

5. In a pie graph , a component is represented as a sector with sector

angle . Find the percemage of the component value in total

A. 0.21

B. 27. 5 %

C. 22. 5 %

D. 0.2

Answer: D

72∘

https://dl.doubtnut.com/l/_HLNyiOQeYOPn
https://dl.doubtnut.com/l/_nytjwaehqHIC


Watch Video Solution

6. The mode of the unimodal data 7 , 8, 9, 8, 9, 10, 9 ,10, 11 , 10, 11, 12, and xis

10. Find the value of x.

A. 10

B. 9

C. 8

D. 11

Answer: A

Watch Video Solution

7. The mean weight of 21 students is 21 kg. If a student weighing 21 kg is

removed from the group, then I what is the mean weight of the

remaining students ?

https://dl.doubtnut.com/l/_nytjwaehqHIC
https://dl.doubtnut.com/l/_PzgPo6D4wJiQ
https://dl.doubtnut.com/l/_dHZLrvJhtyJ9


A. 20 kg

B. 21 kg

C. 19 kg

D. 22 kg

Answer: B

Watch Video Solution

8. If the mean of 2, 4, p, 8, and 10 is p, then find the value of p?

A. 4

B. 5

C. 8

D. 6

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_dHZLrvJhtyJ9
https://dl.doubtnut.com/l/_fKZaGOfNnYss


9.  


From the above Venn diagram ,Find 

A. 11

B. 9

C. 6

D. 7

Answer: D

n(P − Q) + n(Q − P )

https://dl.doubtnut.com/l/_fKZaGOfNnYss
https://dl.doubtnut.com/l/_9Qu67ErnRkaj


Watch Video Solution

10. In a class of 70 students, each student passed Hindi or English. Of

them, 15 students passed both Hindi and English, and 40 students passed

Hindi. Find the number of students who passed English.

A. 35

B. 25

C. 55

D. 7

Answer: D

Watch Video Solution

11. In a school, there are 150 students. If 90 of them play chess, 70 of them

play both chess and carrom and 40 play none of these games, then find

the number of children who play only carrom.

https://dl.doubtnut.com/l/_9Qu67ErnRkaj
https://dl.doubtnut.com/l/_z5venjWjcKfE
https://dl.doubtnut.com/l/_fo5LBQTPQ8qi


A. 90

B. 10

C. 20

D. 30

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_fo5LBQTPQ8qi


Test Your Concepts Very Short Type Questions

12. Match the following Column A to Column B 

Watch Video Solution

1. IF A = {8,7,9} and B ={9,6,3,} , then  has only one element .

Watch Video Solution

A ∩ B

https://dl.doubtnut.com/l/_O31xWngQRjFM
https://dl.doubtnut.com/l/_JEPes1bZTv9b


2. If A = {1,2,3,4,5}, then 

Watch Video Solution

9 ∈ A

3. IF A = {1,2,3} and B = {2,4} , then  has 5 elements .

Watch Video Solution

A ∪ B

4. If , then 

Watch Video Solution

A ⊂ B A ∩ B = ?

5. If 

Watch Video Solution

⊆ B and B ⊆ AthenA = B

https://dl.doubtnut.com/l/_JEPes1bZTv9b
https://dl.doubtnut.com/l/_GLKRzD8dVyDK
https://dl.doubtnut.com/l/_RHYtoXlcy9Ho
https://dl.doubtnut.com/l/_ugZGtfocYL8A
https://dl.doubtnut.com/l/_P0Wtv8e0d39Z


6. Two sets having no element in common are called  sets.

Watch Video Solution

_____

7. The set of whole number is a/an set . ( finite / infinite)

Watch Video Solution

_____

8. If X = {2,4,6,8,10,12} , then the cardinal number of X is _________.

Watch Video Solution

9. If Y ={2,4,6,8} , theen the number of proper subsets of X is _______.

Watch Video Solution

10. If Z = {a,b,c} , then the number of non - empty subsets of Z is __________.

https://dl.doubtnut.com/l/_UlfdMN7OyDgB
https://dl.doubtnut.com/l/_x20bJosOxOmG
https://dl.doubtnut.com/l/_3U4YusK9EtjH
https://dl.doubtnut.com/l/_oVhvN5qJ5LJD
https://dl.doubtnut.com/l/_qpgWRUHqJ5qQ


Watch Video Solution

11. All rich people in your city,

Watch Video Solution

12. All intelligent students in your school .

Watch Video Solution

13. All fat boys in your colony.

Watch Video Solution

14. State whether following is a set or not 

Even numbers less than 100 .

Watch Video Solution

https://dl.doubtnut.com/l/_qpgWRUHqJ5qQ
https://dl.doubtnut.com/l/_FJvH9NXXBY6a
https://dl.doubtnut.com/l/_cAt76mY6NAaW
https://dl.doubtnut.com/l/_IPsnEdgOgSPW
https://dl.doubtnut.com/l/_25vtarr7eZnW


15. If a set has 4 elements , then how many subsets are there for the given

set ?

A. 10

B. 16

C. 12

D. 11

Answer: b

Watch Video Solution

16. Which of the following is a null set?

A. 

B. 

C. {x/x is a composite number less than 5 .}

{1}

{ϕ}

https://dl.doubtnut.com/l/_25vtarr7eZnW
https://dl.doubtnut.com/l/_U2IAl9JRaFVc
https://dl.doubtnut.com/l/_iR9Usd3C7czf


D. {x/x is an even number more than 2 }

Answer: d

Watch Video Solution

17. If A={a,e,I,o,u,a,e,i} then n (A) ______

A. 4

B. 8

C. 16

D. 5

Answer: d

Watch Video Solution

18. If A={x/x +10 = 10 } then n(A)=_____.

https://dl.doubtnut.com/l/_iR9Usd3C7czf
https://dl.doubtnut.com/l/_O6CoRHDEGRxE
https://dl.doubtnut.com/l/_sRkc1QR61OzN


A. 0

B. 1

C. 4

D. 2

Answer: b

Watch Video Solution

19. If A = {a,b,c} and X = {a,b,c} , then  = ________.

A. A

B. A'

C. 

D. 

Answer: c

Watch Video Solution

A ∩ X

ϕ

μ

https://dl.doubtnut.com/l/_sRkc1QR61OzN
https://dl.doubtnut.com/l/_NnQFC8nwgFqc


20. If X={a,e,I,o,u} then which of the following is a correct statement

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

e ∈ X

e ⊂ X

e ∈ X

eX

21. If Y={{ a,e},{I,o},u} then which of the following is a corrcet statements ?

A. 

B. 

C. 

{a, e} ⊂ Y

{a, e} ∈ Y

{{a, e}} ∈ Y

https://dl.doubtnut.com/l/_NnQFC8nwgFqc
https://dl.doubtnut.com/l/_iUVMqEGUy58R
https://dl.doubtnut.com/l/_9I5sqX05kHl7


D. 

Answer: b

Watch Video Solution

{a, e} ∈ Y

22. If E=( x/x is a factor of 8 },F={x/x is a factor of ff16 },and G ={x/x is a

factor of 13 }, then which of the following statements is true ?

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

E ⊂ G

G ⊂ E

E ⊂ F

F ⊂ E

https://dl.doubtnut.com/l/_9I5sqX05kHl7
https://dl.doubtnut.com/l/_TZAaLEVgk4HI


23. Write the intersection of the sets containing the letters of the words

'MATHEMATICS ' and 'SOCIALMAN' .

Watch Video Solution

24. If n(A) = 10 ,n(B) = 20 and , then find  .

A. 5

B. 10

C. 15

D. 20

Answer: c

Watch Video Solution

n(A ∪ B) = 15 n(A ∩ B)

25. If A = {4,6,9,2,7 } and B = {8,2,4,6,9} , then  is _________.

W t h Vid S l ti

A − B

https://dl.doubtnut.com/l/_7mZGh09xUR7y
https://dl.doubtnut.com/l/_irA2am6yKKpC
https://dl.doubtnut.com/l/_jlhoVsAhOkUb


Watch Video Solution

26. If A = {1,2,3,4} , then n(P(A)) is _______.

A. 3

B. 8

C. 4

D. 16

Answer: d

Watch Video Solution

27. The cardinal number of the set containing letters of the word

'ROCKSTAR' .

A. 7

B. 6

https://dl.doubtnut.com/l/_jlhoVsAhOkUb
https://dl.doubtnut.com/l/_7f493IlNcDsg
https://dl.doubtnut.com/l/_7xXVyaEReN6p


C. 4

D. 2

Answer: a

Watch Video Solution

28. If A and B are disjoint sets, then 

A. 4

B. 2

C. 1

D. 0

Answer: d

Watch Video Solution

n(A ∩ B) = ?

https://dl.doubtnut.com/l/_7xXVyaEReN6p
https://dl.doubtnut.com/l/_6ndIMav0Runw


29. Find the cardinal number of a set containg woman prime ministers of

India.

Watch Video Solution

30. Write the set builder from for the given set in the above question .

Watch Video Solution

31. Write the cardinal number of the set containing the letters of the

word 'CHEMISTRY '

Watch Video Solution

32. If Write the difference of the set containing the lettre of the words

ARITHMETIC `

Watch Video Solution

STATISTICS' and

https://dl.doubtnut.com/l/_mdZYSPxJTRqd
https://dl.doubtnut.com/l/_HKu5G8tlGfEO
https://dl.doubtnut.com/l/_O8eEldPqrVi9
https://dl.doubtnut.com/l/_atolGWAN1Pqs


33. If  then name what type of sets are A and B, and also give

example.

Watch Video Solution

A ∩ B = ϕ

34. Suggest a universal set for the set given below. 

A = {Even numbers less than 100} 

B={Odd natural numbers less than 100 in natural numbers }

Watch Video Solution

35. If  and  then write  in the

set builder form .

Watch Video Solution

A = {2, 4, 6, 8, 10} B = {1, 3, 5, 7, 9} A ∪ B

https://dl.doubtnut.com/l/_atolGWAN1Pqs
https://dl.doubtnut.com/l/_ATr1EpDehRaV
https://dl.doubtnut.com/l/_6zk1jfz5DYea
https://dl.doubtnut.com/l/_KUbOgvPz7Zut


36. Let U = {set of all natural numbers} A = { x: x is an even prime number }

, Find A ' .

Watch Video Solution

37. Write dovvn all the possible subsets of {x, y, z}

Watch Video Solution

38. Write down all the possible subsets of {1,3}

Watch Video Solution

39. Write all the possible proper subsets of {0,-1,1}

Watch Video Solution

https://dl.doubtnut.com/l/_LSk1q1ThkyDO
https://dl.doubtnut.com/l/_U8RnXcxbrYR4
https://dl.doubtnut.com/l/_2fAZLrAs6DNI
https://dl.doubtnut.com/l/_3K60MXCffJiX


Test Your Concepts Short Answer Type Questions

1. Write all the possible proper subsets of 

Watch Video Solution

{3, 10}

2. A={xx is a multiple of 3, } and B ={xx is multiple of 5,  }

Find n(A) n-(B)

Watch Video Solution

x < 10 x < 15

3. If  = 200 and n(  = 120, then find 

Watch Video Solution

n(μ) A' ∩ B) n(A ∪ B)

4. Write the roster form of

W t h Vid S l ti

X = {x : x = n2 + 2n + 1, n ∈ N and n < 10}

https://dl.doubtnut.com/l/_vAk45A2PrDQR
https://dl.doubtnut.com/l/_OufYsFxP6T3H
https://dl.doubtnut.com/l/_suxYVt7iCzSM
https://dl.doubtnut.com/l/_NgaHUsRxlmQm


Watch Video Solution

5. A set X has 255 proper subests .Find its cardinal number .

Watch Video Solution

6. A=  and B={0,1,4,9,16,25} Find 

Watch Video Solution

{0, 12, 22, 32, 42, 52} A ∩ B

7. Find  in the above question

Watch Video Solution

A ∪ B

8. If A={2,3,5,7,11} and B={1,3,5,7,9} then find A-B and B-A

Watch Video Solution

https://dl.doubtnut.com/l/_NgaHUsRxlmQm
https://dl.doubtnut.com/l/_pQzEDfMESNbl
https://dl.doubtnut.com/l/_dmPe3pr91bVf
https://dl.doubtnut.com/l/_6tybmvmSEETx
https://dl.doubtnut.com/l/_1UklI9bVfREU
https://dl.doubtnut.com/l/_A4CnxSiJKBcE


9. If U = {set of natural numbers} and A = {set of even natural numbers} ,

then find A' .

Watch Video Solution

10. If O= {1} , then find the number of all possible proper subsets of O.

Watch Video Solution

11. If A =  , then the number of all possible subsets of A

.

Watch Video Solution

{1, 2, 3, 4, 5, ....10}

12. If n(A )= 20  = 10,and then find n(B).

Watch Video Solution

n(A ∩ B) n(A ∪ B) = 70

https://dl.doubtnut.com/l/_A4CnxSiJKBcE
https://dl.doubtnut.com/l/_TahYQAnc14uP
https://dl.doubtnut.com/l/_js6RzbGKbwEi
https://dl.doubtnut.com/l/_nM4Q3gTUSCoe


Test Your Concepts Essay Type Questions

13. If x={0,1,2,3,4,5,6,7,8,9,10} and Y={ 2,4,6,8,10} then find X-Y.

Watch Video Solution

1. From the given Venn diagram find (a)  


Watch Video Solution

P ∪ Q(b)p ∩ Q and (c)P ∩ Q

https://dl.doubtnut.com/l/_2H9mQHG1M8Sk
https://dl.doubtnut.com/l/_81UzShsajYlT
https://dl.doubtnut.com/l/_d6ZYxexDRqiG


2. From the givenVenn diagram find (a)

 


Watch Video Solution

A' ∪ B(b)B' ∩ C' and (c)C − A

3. In a group of 36 students, 18 like volleyball, 12 like hockey, and 14 like

neither of the games. How many like both games?

Watch Video Solution

https://dl.doubtnut.com/l/_d6ZYxexDRqiG
https://dl.doubtnut.com/l/_DQ98rwJW5Akh


4. In the question above, how many do not like volley ball and how many

do not like hockey?

Watch Video Solution

5. In a group of persons , the number of persons who like only tea is half

that of those who like only coffe , or one -third of that of those who like

neither tea nor coffee, or one - fourth of that of those who like both tea

and coffee . If there are 100 persons in the group , then find the number

of persons who like both tea and coffee.

View Text Solution

6. In a class of 60 students, 30 passed in Physics and 24 passed in Biology.

Find the maximum number of students who could have failed in both the

subjects

Watch Video Solution

https://dl.doubtnut.com/l/_ps8P0oVQ68X2
https://dl.doubtnut.com/l/_kt68iQLee3a1
https://dl.doubtnut.com/l/_FGeeOncA9xHO


7.  


From the above Venn diagram ,Find 

Watch Video Solution

n(P − Q) + n(Q − P )

8. In a class of 70 students, each student passed Hindi or English. Of

them, 15 students passed both Hindi and English, and 40 students passed

Hindi. Find the number of students who passed English.

Watch Video Solution

https://dl.doubtnut.com/l/_bmxZqqP0CgNh
https://dl.doubtnut.com/l/_4F0AQ0eQ2cOW


Concept Application Level 1

9. In a school, there are 150 students. If 90 of them play chess, 70 of them

play both chess and carrom and 40 play none of these games, then find

the number of children who play only carrom.

Watch Video Solution

1. If  ={1,2,3,4,5,6,7,8) and A={2,5,8} then find n(A)

A. 3

B. 5

C. 4

D. 6

Answer: b

Watch Video Solution

μ

https://dl.doubtnut.com/l/_EafyOSLL0KiB
https://dl.doubtnut.com/l/_k8xWGolNJEut


2. If x ={Non-prime numbers } and Y= {Non composite numbers },then

_______.

A. 0

B. 2

C. 1

D. 3

Answer: c

Watch Video Solution

n(x ∩ Y )

3. If p= {Factors of 6 } and Q={Factors of 12 } then, _____.

A. 4

B. 8

C. 10

D. 6

n(P ∪ Q)

https://dl.doubtnut.com/l/_nK2bp99XxbLx
https://dl.doubtnut.com/l/_IEQqJFh414az


Answer: d

Watch Video Solution

4. Which of the following is/are true ?

A. If M=N , then M' = N'

B. If M' = N' , then M = N .

C. Both (a) and (b)

D. Neither (a) nor (b)

Answer: c

Watch Video Solution

5. If n(A)=10 n(B)=20 and =___.

A. 4

n(A ∪ B) = 26then n(A ∪ B)

https://dl.doubtnut.com/l/_IEQqJFh414az
https://dl.doubtnut.com/l/_nBcYJZ0UXS8N
https://dl.doubtnut.com/l/_S13K0MUIXlvW


B. 2

C. 6

D. 8

Answer: a

Watch Video Solution

6. A={1,2,3,4,5,6,7,8,9 

B={ 2,4,6,8 } 

C={1,3,5 7,9} 

=_____.

A. A

B. B

C. 

D. Both (a) and (c )

(A ∪ (B ∪ ))

B ∪ C

https://dl.doubtnut.com/l/_S13K0MUIXlvW
https://dl.doubtnut.com/l/_GVqKGGM6ED8q


Answer: d

Watch Video Solution

7. A={1,2,3,4,5,6,7,8,9 

B={ 2,4,6,8 } 

C={1,3,5 7,9} 

=_____.

A. B

B. C

C. 

D. 

Answer: a

Watch Video Solution

(A ∪ (B ∪ ))

B ∩ C

A ∩ C

https://dl.doubtnut.com/l/_GVqKGGM6ED8q
https://dl.doubtnut.com/l/_7IyrHPJN0y4u


8. =______.

A. B

B. C

C. 

D. 

Answer: b

Watch Video Solution

A ∩ C

B ∩ C

A ∩ B

9. A={1,2,3,4,5,6,7,8,9 

B={ 2,4,6,8 } 

C={1,3,5 7,9} 

=_____.

A. A

B. 

(A ∪ (B ∪ ))

A ∪ B

https://dl.doubtnut.com/l/_VD5t5fZZYeHB
https://dl.doubtnut.com/l/_Ao0NATv1AupQ


C. 

D. All of these

Answer: d

Watch Video Solution

A ∪ C

10. Which of the following is a singleton set ?

A. {0}

B. 

C. {x:x is an prime number }

D. All of these

Answer: d

Watch Video Solution

{ϕ}

https://dl.doubtnut.com/l/_Ao0NATv1AupQ
https://dl.doubtnut.com/l/_MfuUqsM7PQpZ


11. IF A ={1,3,5,2,4,1,3,5,7,8,9,6,10} , then n(P(A)) = ________.

Watch Video Solution

12. If A =  , then n(A) = _________.

A. 0

B. 1

C. 5

D. 2

Answer: b

Watch Video Solution

{x : x + 5 = 5}

13. If X={1,2,3,4} then which of the following is a correct statement ?

A. 4 ∈ X

https://dl.doubtnut.com/l/_ZmyDqSlPLvpq
https://dl.doubtnut.com/l/_9fGoLzkk5mG1
https://dl.doubtnut.com/l/_FoQ1DB4SPs0b


B. 

C. 

D. 

Answer: a

Watch Video Solution

4 ⊂ X

4 ∈ X

4 ⊂ X

14. P={x:x is a multiple of  } and Q= {xx is a multiple of 

Find n(P) +n(Q). 

The following steps are involved in solving the above problem .Arrange

them in sequential order .(A) P= {4,8,12,16} and Q={6,12 , 18,24} 

(B) n(P) =4 and n(Q)=4 


(C ) n(P) = 4 and n (Q) =8 

A. CBA

B. ACB

C. BAC

4, x < 20 6, x < 30}

⇒

https://dl.doubtnut.com/l/_FoQ1DB4SPs0b
https://dl.doubtnut.com/l/_zb5YngRjdmxe


D. ABC

Answer: d

Watch Video Solution

15. In a group of 50 students ,30 like Basketball ,20 like football and 10 like

neither of the games .How many like both the game ? 

The following steps are involved in solving the above problem .Arrange

them in sequential order. 

(A)  


 


( C ) Let n(B) = 30 ,n(F)=20 and  


We know that 

A. CDBA

B. CBDA

C. ADBC

D. BCDA

n(B ∩ F ) = 50 − 40 = 10

⇒ 40 = 50 − n(B ∩ F )

n(B ∪ F ) = 50 − 10 = 40

n(B ∪ F ) = n(B) + n(F ) − n(B ∩ F )

https://dl.doubtnut.com/l/_zb5YngRjdmxe
https://dl.doubtnut.com/l/_muHdmk2sVQLS


Answer: a

Watch Video Solution

16. 

Watch Video Solution

Column A

a If A = {x : x < 11, x ∈ W} and B = {x : x <  11, x ∈ N}

b Ifx = {}, then n(Px)

c The cardinal number of the set containing the letter of the word 'GOOG

d IfA ⊂ B  then A ∩ B

17. If A ={ T,I,G,E,R} and B={G,I,N,T,E,R} then  has 6 elements .

Watch Video Solution

A ∪ B

18. The cardinal number of the set containing letters of the word

'GINGERCOOK ' is 8.

https://dl.doubtnut.com/l/_muHdmk2sVQLS
https://dl.doubtnut.com/l/_u0sUHFpKOiih
https://dl.doubtnut.com/l/_i1gkjZJPN5yi
https://dl.doubtnut.com/l/_ee89qsH0o6hr


Concept Application Level 2

Watch Video Solution

19. Find true or false:

if  then .

Watch Video Solution

A ⊆ B A ∪ B = A

20. If X={1,2,3,{4,5},6,{7,8,9,10} then 

Watch Video Solution

{4, 5} ⊂ X

1. If A={Positve perfect squares less than 100} and B={Positve perfect cuber

less than 100} , then find 

Watch Video Solution

n(A ∩ B)

https://dl.doubtnut.com/l/_ee89qsH0o6hr
https://dl.doubtnut.com/l/_Sg5m5HGTq1ud
https://dl.doubtnut.com/l/_edEr3oCKVf8N
https://dl.doubtnut.com/l/_cNPq1RS4b2xa
https://dl.doubtnut.com/l/_pCeS3vaM584T


2. If , All prime number } and O={all odd prime number },find n(O).

A. 1

B. 2

C. 3

D. More than 3

Answer: a

Watch Video Solution

μ = {

3. ={Two digit perfect squases for which sum of digits is a perfect square

} 

Y={Two digit perfect squases for which sum of digits is a perfect square }

Find 

A. 

B. 

μ

(X ∪ Y )

{49}

{25}

https://dl.doubtnut.com/l/_pCeS3vaM584T
https://dl.doubtnut.com/l/_hodpvvipfSty


C. 

D. 

Answer: d

Watch Video Solution

{36}

{64}

4. If  , X = {2,3,5,7} and Y = {2,5,8} . Find n 

.

A. 5

B. 7

C. 6

D. 9

Answer: a

Watch Video Solution

μ = {0, 1, 2, 3, 4, 5, 6, 7, 8, 9}

(X ∪ Y )

https://dl.doubtnut.com/l/_hodpvvipfSty
https://dl.doubtnut.com/l/_adzJOlD5RCUi
https://dl.doubtnut.com/l/_6mSdzoHUT38L


5. A={1,2,3,4,5,6,7,8,9}, 

B={2,4,6,8} 

C={1,3,5,7,8} 

If P={Factor of 36} and Q={Factors of AB} then find 

A. 6

B. 5

C. 7

D. 8

Answer: a

Watch Video Solution

n(P ∩ Q)

6. S=abcdef….z,  = {Vowels in S} and B={ Vowels in even positions of S}

.Find n(B')

A. 4

μ

https://dl.doubtnut.com/l/_6mSdzoHUT38L
https://dl.doubtnut.com/l/_9TaoYaWKKGt8


B. 5

C. 3

D. 2

Answer: b

Watch Video Solution

7. If N is natural number A= Factors of N} and B{Multiples of N} , then `n(A

cap B)=_____.

A. 2

B. 3

C. 4

D. 1

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_9TaoYaWKKGt8
https://dl.doubtnut.com/l/_TuZK16xKizJW


8. If  {Natural number up to 32 } ,C={2,5,8,11,…..32} and D={ 2,4,6,8,…..32}

then find 

A. 3

B. 4

C. 6

D. 5

Answer: d

Watch Video Solution

μ

n(C ∩ D)

9. A = { set of natural numbers } 

B = { set of odd natural numbers} 

then find 

Watch Video Solution

(A ∩ B)

https://dl.doubtnut.com/l/_TuZK16xKizJW
https://dl.doubtnut.com/l/_axdMClD5FFLF
https://dl.doubtnut.com/l/_p40FHyJXeg78
https://dl.doubtnut.com/l/_klKCP5C6Dosz


10. X= { The units digit of the sum of 10 consective natural numbers } Find

X.

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

{5}

{2}

{3}

{0}

11. If A=(1,2,3,4,8}, then which of the following can be concluded ?

A. 

B. 

C. 

D. All of these

8 ∈ A

9 ∈ A

{2, 3} ⊂ a

https://dl.doubtnut.com/l/_klKCP5C6Dosz
https://dl.doubtnut.com/l/_ZfN8lWJbBzVT


Answer: d

Watch Video Solution

12. If A and B are two disjoint sets  then find 

.

A. 16

B. 18

C. 24

D. Cannot say

Answer: a

Watch Video Solution

n(A) + n(B) = 16,

n(A ∪ B)

13. If A = {1,2,3,4} and B = {1,3,5,7} , then = ______.

Watch Video Solution

(A − B) ∪ (B − A)

https://dl.doubtnut.com/l/_ZfN8lWJbBzVT
https://dl.doubtnut.com/l/_zNkM5UOonTb5
https://dl.doubtnut.com/l/_hL0ZbfuJSQJO


14. A = {1,2,3,4} and B = {1,3,5,7} find 

Watch Video Solution

(A − B) ∩ (B − A)

15. Which of the following is/are true ?

A. 

B. 

C. Both (a) and (b)

D. None of these

Answer: d

Watch Video Solution

P ∪ P = μ

P ∩ P = ϕ

16. Which of the following is/are true ?

https://dl.doubtnut.com/l/_hL0ZbfuJSQJO
https://dl.doubtnut.com/l/_7XBuRupOnomR
https://dl.doubtnut.com/l/_XhvckoAR4Uxm
https://dl.doubtnut.com/l/_x9Uhe53av8ii


A. 

B. 

C. Both (a) and (b)

D. None of these

Answer: c

Watch Video Solution

P ∪ P = μ

P ∩ P = ϕ

17. If two sets are disjoint , then _______.

A. they have one element in common

B. they have 0 as the common element

C. they have two element in common

D. they have two elements in common

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_x9Uhe53av8ii
https://dl.doubtnut.com/l/_vLs0iyrwuKVJ


18. If  , then which of the following is a correct

statement ?

A. 

B. 

C. 

D. 

Answer: b

Watch Video Solution

A = {5, 7, 12, 16, 1}

{1, 7} ∈ A

{1, 7} ⊂ A

{5, 8} ⊂ A

16 ∈ A

19. If `U={ x:x is an alphabet } and C={x:x is a consonant } then C=____.

A. 

B. 

C. 

{a, e, i, o, u}

{a, e, i}

{i, o, u}

https://dl.doubtnut.com/l/_vLs0iyrwuKVJ
https://dl.doubtnut.com/l/_6oT33FluyxDa
https://dl.doubtnut.com/l/_5qW3B3RLSwga


D. 

Answer: d

Watch Video Solution

{a, e, I, o, u}

20. If =O={0} then the number of all possible subsets of O is __.

A. 2

B. 3

C. 1

D. 4

Answer: a

Watch Video Solution

21. If =35 then n(B) =____.n(A) = 10, n(A ∩ B) = 5 and n(A ∪ B)

https://dl.doubtnut.com/l/_5qW3B3RLSwga
https://dl.doubtnut.com/l/_U9PJUdGRxtnI
https://dl.doubtnut.com/l/_kwXe0R4Iemio


A. 30

B. 10

C. 40

D. None of these

Answer: a

Watch Video Solution

22. If x={0,1,2,3,4,5,6,7,8,9,10} and Y={ 1,3,5,7,9} then X-Y=___.

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

{1, 2, 3, 4, 5}

{1, 3, 5, 7, 9}

{0, 2, 4, 6, 8, 10}

{2, 4, 6, 8, 10}

https://dl.doubtnut.com/l/_kwXe0R4Iemio
https://dl.doubtnut.com/l/_d8mYymoa5bxT


Concept Application Level 3

23. Given that A= {Perfect cubes between 10 and 100} B={Perfect squares

between 10 and 100} and B={Perfect squares between 10 and 100}.Find

A. 2

B. 1

C. 5

D. 3

Answer: b

Watch Video Solution

n(A ∩ B)

1. If ={Natural number up to 30 },Q ={Multiples of 4 less than 30 } then

find 

μ

n[(Q ∩ R)]

https://dl.doubtnut.com/l/_d8mYymoa5bxT
https://dl.doubtnut.com/l/_B5sFVm42GzPV
https://dl.doubtnut.com/l/_Ndhq5U7u3MbL


A. 27

B. 26

C. 29

D. 28

Answer: d

Watch Video Solution

2. A ={ Natural number less than 200 divisible by 9} 

B={Natural numbers less than 200 divisible by 12 } 

C= {Natural numbers less than 200 divisible by 15} .Then

A. 

B. 

C. 

D. 

(A ∩ B ∩ C) =_ __ _ .

{180}

{120}

{105, 150}

{120, 180}

https://dl.doubtnut.com/l/_Ndhq5U7u3MbL
https://dl.doubtnut.com/l/_sHMHgd0EohFm


Answer: a

Watch Video Solution

3. In the previous question,

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

{60, 120, 180}

{45, 90, 135, 180}

{36, 72, 108, 144, 180}

{36, 60, 84}

4. If P={Factors of 48 } and Q={Factiors of 60 } then find

n[(P − Q)μ(Q − P )]

https://dl.doubtnut.com/l/_sHMHgd0EohFm
https://dl.doubtnut.com/l/_YNORjMYZ3ONe
https://dl.doubtnut.com/l/_bvsFY3FkUXI8


A. 5

B. 7

C. 8

D. 10

Answer: d

Watch Video Solution

5. Given that E= { Natural number up to 30 }

 Find 

A. 0

B. 2

C. 1

D. 3

P = { = 4y + 1, x ∈ E} and Q = { = 6y + x ∈ E}
x

x

x

x

n(P ∩ Q)

https://dl.doubtnut.com/l/_bvsFY3FkUXI8
https://dl.doubtnut.com/l/_mbumgKgFEOZn


Answer: b

Watch Video Solution

6. A class has 50 student ,each student likes either cricket or football or

both .Sixteen students like both the games .Find the number of students

who like exactly one game .

A. 34

B. 32

C. 38

D. 36

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_mbumgKgFEOZn
https://dl.doubtnut.com/l/_1gxdz5VhXIBf


7. In a group of 36 persons ,20 take coffee but not tea. 16 take tea coffee

.Find the number of persons who take niether tea nor coffee.

A. 2

B. 1

C. 0

D. 3

Answer: c

Watch Video Solution

8. In a locality there are 100 residents sixtty of them read The Times of

India .The number of residents who read both newspapers must be

________.

A. more than the number of those who neither newspaper

B. less than the number of those who read neither newspaper

https://dl.doubtnut.com/l/_bs1cm7ks2tdp
https://dl.doubtnut.com/l/_q4mWpmZWb3Qn


C. equal to the number of those who read naither newspaper

D. Cannot say

Answer: c

Watch Video Solution

9. In a class ,there are 80 students ,The ratio of the number of those who

like only chocolates only ice creams ,both of these ,and neither of these is

4:3:2:1.How many like utmost one of the chocolates and ice creams ?

A. 72

B. 56

C. 64

D. 60

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_q4mWpmZWb3Qn
https://dl.doubtnut.com/l/_D35FWe37FQTc


10. In the question above how many do not like ice creams ?

A. 40

B. 44

C. 148

D. 36

Answer: a

Watch Video Solution

11. In a class each students plays chess or carom or both .The number of

students who play chess carom ,and both are 11,12 and 3 respectively Find

the percentage of those who play only chess.

A. 0.36

B. 0.4

https://dl.doubtnut.com/l/_D35FWe37FQTc
https://dl.doubtnut.com/l/_I6osC2aRQb3t
https://dl.doubtnut.com/l/_mqALJBg9vamL


C. 0.44

D. 0.48

Answer: b

Watch Video Solution

12. In the question above ,find the percentage of those who play only

caroms

A. 0.45

B. 0.4

C. 0.5

D. 0.55

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_mqALJBg9vamL
https://dl.doubtnut.com/l/_Wh1u13hxEIkS
https://dl.doubtnut.com/l/_84zL1syGruj1


13.  


From the above Venn diagram , find __________.

A. 8

B. 3

C. 5

D. 4

Answer: B

Watch Video Solution

n(P ∩ Q) =

https://dl.doubtnut.com/l/_84zL1syGruj1


14. In a class of 50 students, each student passed Maths or English. If 10

students passed both Maths and English, and 30 students passed Maths,

the find the number of students who passed English.

A. 30

B. 20

C. 10

D. 40

Answer: a

Watch Video Solution

15. If A={x/x is a factor fof 4} B={x/x is a factor of 8} and C={x./x is a factor of

10 } then which of the following statements who passed English.

A. 

B. 

A ⊂ C

C ⊂ A

https://dl.doubtnut.com/l/_VXIKDBDJ8SIH
https://dl.doubtnut.com/l/_7rWWvDZXGLdq


C. 

D. 

Answer: c

Watch Video Solution

A ⊂ B

B ⊂ A

16. Given that X= { Natural number less than 100 divisible by 6} ,Y =

{Natural number less than 100 divisible by 8} and Z= {Natural number less

than 100 divisibe by 18} 

Find 

A. 4

B. 1

C. 3

D. 2

Answer: b

W t h Vid S l ti

n(X ∩ Y ∩ Z)

https://dl.doubtnut.com/l/_7rWWvDZXGLdq
https://dl.doubtnut.com/l/_EN0R4yKP33Nw


Watch Video Solution

17. The strenght of a class is 96 .In it 56 students like cricket and 40

students like football .Which of the following can ve concluded ?

A. No student likes either cricket or footbaal.

B. Each student likes cricket or football.

C. Neither (a) nor (b)

D. Both (a) and (b)

Answer: c

Watch Video Solution

18. In a office ,the ratio of the percentages of employees who like only tea,

percentage of employees who like only coffee ,perscentage of employees

who like neither of the drinks is 8 : 7: 6: 4 Find the percentage of

employees who like neither of the deinks.

https://dl.doubtnut.com/l/_EN0R4yKP33Nw
https://dl.doubtnut.com/l/_CGbnbT7rZ7nS
https://dl.doubtnut.com/l/_BqhHPaQxfFVR


Assessment Test 1

A. 0.12

B. 0.08

C. 0.2

D. 0.16

Answer: d

Watch Video Solution

19. If  = {set of children liking football} then  represents?

Watch Video Solution

X X'

1. The mean of 36 observations is 22.If one observation 22 is deleted ,then

find the new mean 

The following steps are involved in solving the above problem .Arrange

https://dl.doubtnut.com/l/_BqhHPaQxfFVR
https://dl.doubtnut.com/l/_oQVNFD9YXW2U
https://dl.doubtnut.com/l/_5WgKMdaoGlkX


then in sequential order . 

New arithmetic mean  


( B) Arithemetic mean 

 


 

( C) The sum of the observations 22 is deleted , the new sum = 792 -22 =

770 and the number of observations is 36 -1 ,i.e 35,.

A. BDCA

B. BCDA

C. DBAC

D. CBDA

Answer: b

Watch Video Solution

∴ = = 22
770

35

=
The sum of the observations 

Total number of the observations

⇒ 22 =
The sum of the observations 

36

2. 

If = {x : x ∈ W , x ≤ 10} and B = {x : x ∈ Nx ≤ 10}  then  find n(A ∪

https://dl.doubtnut.com/l/_5WgKMdaoGlkX
https://dl.doubtnut.com/l/_pVNuf4uSwub9


The following steps are involved in solving the above problem.Arrange

them in sequential order 

(A)  


( B) {0,1,2,3,4,5,6,7,8,9, 10 } cup {1,2,3,4,5,6,7,8,9,10} 


Form the given data A={1,2,34,5,6,7,8,9,10} and B={1,2,3,4,5,6,7,8,9,10} 

A. CABD

B. CBDA

C. DCBA

D. BCDA

Answer: b

Watch Video Solution

⇒ n(A ∪ B) = 11

A ∪ B =

∴ A ∪ B = {0, 1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

3. If the mean of 4, x and y is 6 , then the mean of x, y and 10 is ______.

A. 8

https://dl.doubtnut.com/l/_pVNuf4uSwub9
https://dl.doubtnut.com/l/_FFk7GJevVLXM


B. 9

C. 12

D. 10

Answer: a

Watch Video Solution

4. A bar graph is drawn to the scale 1 cm = 4x units .The length of the bar

represeting a quantity 1000 units is 1.25 cm . Find x

A. 200

B. 175

C. 250

D. 275

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_FFk7GJevVLXM
https://dl.doubtnut.com/l/_sfQ8CkGAhKna


5. In a pie grap h , a component is represnted as a sector with sector

angle .Find the percetage of the component value in total .

A. 0.28

B. 0.3

C. 0.32

D. 0.35

Answer: b

Watch Video Solution

180∘

6. Find the mode of the data 2,4,6,7,6,7 and 8 .

A. 4

B. 6

C. 7

https://dl.doubtnut.com/l/_sfQ8CkGAhKna
https://dl.doubtnut.com/l/_g25meoRl8wMw
https://dl.doubtnut.com/l/_DaM001RfVY3j


D. 8

Answer: b

Watch Video Solution

7. The mean height of a group of 30 students is 150 cm. If a 150 cm tall

student is included in the group , then the mean height of the new group

is ___.

A. 151 cm

B. 149 cm

C. 150 cm

D. 152 cm

Answer: c

Watch Video Solution

https://dl.doubtnut.com/l/_DaM001RfVY3j
https://dl.doubtnut.com/l/_L9GLLNkshxTG
https://dl.doubtnut.com/l/_yoAuXJ84r09S


8. If the mean of 2,3, x ,7 ,8 is x, then find the value of x .

A. 3

B. 5

C. 4

D. 6

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_yoAuXJ84r09S


9.  


From the above Venn diagram ,find =__________.

A. 10

B. 4

C. 6

D. 8

Answer: d

Watch Video Solution

n(P − Q) + n(Q − P )

https://dl.doubtnut.com/l/_wT2YFrrsgk4l


10. In a class of 50 students, each student passed Maths or English. If 10

students passed both Maths and English, and 30 students passed Maths,

the find the number of students who passed English.

A. 30

B. 20

C. 10

D. 40

Answer: a

Watch Video Solution

11. There are 100 children in a colony. Of them, 70 watch Disney channel,

50 watch both Cartoon network and Disney channels, and 20 watch none

of these. Find the number of children who watch only cartoon network.

A. 40

https://dl.doubtnut.com/l/_wT2YFrrsgk4l
https://dl.doubtnut.com/l/_2WjrXriPXpfR
https://dl.doubtnut.com/l/_tZizOELrVbUs


B. 30

C. 20

D. 10

Answer: d

Watch Video Solution

12. If  and A = {0,1,4}, then 

Watch Video Solution

U = {0, 1, 2, 3, 4, 5, 6} n(A' ) =_ __

13. If  and , then n (A-B) =_______

Watch Video Solution

A = {b, c, y, a, q, r} B = {a, x, p}

14. If ,then the number of subset =_______

Watch Video Solution

K = {0, 1, 2, 3}

https://dl.doubtnut.com/l/_tZizOELrVbUs
https://dl.doubtnut.com/l/_j5FRxiQT11xo
https://dl.doubtnut.com/l/_oiiYMLNWDAhK
https://dl.doubtnut.com/l/_rkudyHz8QnDS


Assessment Test 2

Watch Video Solution

15. If  and 

 , then  is ______ .

Watch Video Solution

X = {x : xiseven, x ∈ N and x ≤ 12}

Y = {x is a prime ,x ∈ N and x ≤ 12} n(X ∪ Y )

1. The mean of 2, 12, x, 15, 20, and 17 is 16, then find the value of x . 

The following steps are involved in solving the above problem. Arrange

them in sequential order. 

 


(B ) 96=66+x 

( c)  


(D) We have,arithmetic mean 

A. ADBC

(A)16 = 2 + 12 + x + 15, 20 +
17

6

⇒ x = 96 − 66 = 30

=
The sum of observations 

Total number of observatons 

https://dl.doubtnut.com/l/_rkudyHz8QnDS
https://dl.doubtnut.com/l/_YFA8myRN1pP3
https://dl.doubtnut.com/l/_ffqywmUhaDf8


B. DABC

C. CABD

D. DABC

Answer: b

Watch Video Solution

2. In a class, there are 100 students. Of them, 60 students attend music

classes, 40 students attend dance classes, and 20 students attend both

the classes. Find the number of students who attend neither of the

classes. 

The following steps are involved in solving the above problem. Arrange

them in sequential order 

(A) 

( B) Number of students who attend neither of the classes = 100 - 80 =

20 

n(M ∪ D) = n(M) + n(D) − n(M ∪ D) → n(M ∩ D) → n(M ∪ D) = 6

∴

https://dl.doubtnut.com/l/_ffqywmUhaDf8
https://dl.doubtnut.com/l/_znxrQasgjHYo


( C)  


(D) Let n(M) be the number of students who attend music classes and

n(D) be the number of students who attend dance classes.

A. DACB

B. DCBA

C. ACDB

D. DCAB

Answer: d

Watch Video Solution

n(M) = 60, n(D) = 40 and n(M ∩ D) = 20(given)

3. The mean of p, q, and r is same as the mean of q, 2r, and s. then which

of the following is correct ?

A. p = q = r

B. q = r = s

C. q=r

https://dl.doubtnut.com/l/_znxrQasgjHYo
https://dl.doubtnut.com/l/_JScTZ2ZFlknM


D. 

Answer: d

Watch Video Solution

p = r + s

4. A bar graph is drawn to the scale of 1 cm = 2 m units. The length of the

bar representing a quanti ty of 875 units is 1.75 cm. Find m .

A. 

B. 225

C. 250

D. 

Answer: c

Watch Video Solution

125

375

https://dl.doubtnut.com/l/_JScTZ2ZFlknM
https://dl.doubtnut.com/l/_6JlSB5YyQZz9


5. In a pie graph , a component is represented as a sector with sector

angle . Find the percemage of the component value in total

A. 0.21

B.  %

C. %

D. 

Answer: d

Watch Video Solution

72∘

27.5

22.5

20 %

6. The mode of the unimodal data 7, 8, 9, 8, 9, 10, 9, 10, 11, 10, 11, 12 and x is

10. Find the value of x.

A. 10

B. 9

C. 8

https://dl.doubtnut.com/l/_7gTve0tMgRS4
https://dl.doubtnut.com/l/_G4TKkMhNkxIS


D. 11

Answer: a

Watch Video Solution

7. The mean weight of 21 students is 21 kg. If a student weighing 21 kg is

removed from the group, then what is the mean weight of the remaining

students ?

A. 20 kg

B. 21 kg

C. 19 kg

D. 22 kg

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_G4TKkMhNkxIS
https://dl.doubtnut.com/l/_uspWKuTM0UWq
https://dl.doubtnut.com/l/_gbgf1ibU9TL5


8. If the mean of 10,14,7,9 and x is x, then find the value of x ?

A. 4

B. 5

C. 8

D. 10

Answer: d

Watch Video Solution

9.

https://d10lpgp6xz60nq.cloudfront.net/physics_images/PAT_CHE_0XI_B05_C11_

A. 11

B. 9

C. 6

D. 7

https://dl.doubtnut.com/l/_gbgf1ibU9TL5
https://dl.doubtnut.com/l/_LdNzZJcYIlMn


Answer: d

Watch Video Solution

10. In a class of 70 students, each student passed Hindi or English. Of

them, 15 students passed both Hindi and English, and 40 students passed

Hindi. Find the number of students who passed English.

A. 35

B. 25

C. 55

D. 45

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_LdNzZJcYIlMn
https://dl.doubtnut.com/l/_2qhXfpGWvbDd


11. In a school, there are 150 students. If 90 of them play chess, 70 of them

play both chess and carrom and 40 play none of these games, then find

the number of children who play only carrom.

A. 90

B. 10

C. 20

D. 30

Answer: c

Watch Video Solution

12. If  and  then  =________

Watch Video Solution

U = {p, q, r} A = {p} n(A' )

https://dl.doubtnut.com/l/_zRpbbZ5j2yEa
https://dl.doubtnut.com/l/_8iHedsNIAm69


13. If  and , then 

 is ______

Watch Video Solution

A = {1, 2, 3, 4, 5, 6, 7, 8, 9, 10} B = {2, 4, 6, 8, 10}

n(A − B)

14. If ,then the number of subsets of A are________.

Watch Video Solution

A = {5, 10, 15, 20, 25}

15. If  and 

then n = ______

Watch Video Solution

A = {  x:x is an even prime x ∈ N}

B = {x :x is an odd natural number x < 10} (A ∩ B)

https://dl.doubtnut.com/l/_bKbNi0eDT4Ld
https://dl.doubtnut.com/l/_Ynemvev46fx9
https://dl.doubtnut.com/l/_1IPI9oT2xZsy

